p(r)

Ratio to ATLAS

16

14

12

10

[EEY

0.5

7000 GeV pp tt
H T Tt rrro oot T T T e T T T Y
- : . _ 1@
— Differential jet shapep (b-jets, p_>40, n| < 2.5) —3
| =
. m ATLAS 1o
 --4-- Herwig 7.0.4 default N
| —a— Pythia 8.301 default 1<
-4 Sherpa 2.2.5 default _—03
- -2
- [0
- Bl ey
o™
— <
| ™
©
— 1O
I _ 1M
—
B .=
— X<
- &
_ -
- —-S
- |1
- d®
Q
— -1 n
- 3
- —H
| N (@]
» E
= E
— =2
. -
_________ x 1
B M o .. i
| L STTTY _
-’ ............ ’_ ____________ ’
| —0.5
I T S SR T I T S SR T I T S SR T I T S SR T l
0 0.1 0.2 0.3 0.4



	Contents
	Page 1


